[bookmark: _Hlk38397277]Monday 27th April 2020
Questions from myminimaths.co.uk:
11a) 2,553 -  605 =
11b) 448 -  _______ = 15
11c) 4,466 -  828 =
11d) 8,734 -  459 =
11e) 703 -  _______ = 562
11f) 5,892 -   _______ = 2,430
11g) 7,839 -  348 =
11h) 2,198 -  _______ = 1,477
11i) 1,560 -  890 =
11j) 593 -  _______ = 189
11k) 8,765 -  387 =
11l) 13,651 -   _______ = 10,894
11m) 613 -   _______ = 508
11n) 4,902 -  566 =
11o) 14,114 -  _______= 6,254
11p) 6,275 -   _______ = 3,193

Answers: https://myminimaths.co.uk/arithmetic-16-answers-question-11/
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[bookmark: _Hlk38397283]Y6 - Mr Needham and Miss Dean’s Maths 04.05.20 – 08.05.20



	LO: To add two 4-digit numbers.

	Tuesday 5th May 2020

	Star words:   place value                    addition                       greater         altogether               in total             increase by           whole      



	Fluency

	1) Using the place value mat, draw counters and calculate 242 + 213
	1000s
	100s
	10s
	1s

	
	
	
	

	
	
	
	


2)
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	3) 4241 + 1234 =
	4) 5243 + 2517 =

	5) 3617 + 2152 =
	6) 6258 + 4253 =

	7) 2435 + 5352 =
	8) 5342 + 2837 =
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	Reasoning 
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	Problem Solving

	1. Mr Needham decides to paint his fence. He buys 5324 litres of paint. The next day he buys another 2345 litres of paint. How many litres of paint did he need to paint his fence?

2. Miss Dean drove 4123 miles in total last year. This year she has driven 3846 miles. How many miles has her car driven altogether? 

3. On Monday, Superman flew 3351 miles from London to New York. The next night he flew 3625 miles from New York to Paris. How many miles did he fly in total?

4. On Saturday, McDonalds sold 8472 cheese burgers. On Sunday they sold 1527 cheese burgers. How many cheese burgers did they sell altogether? 


	Challenge
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	LO: To add two 4-digit numbers with multiple exchanges.

	Wednesday 6th May 2020

	Star words:   place value                    addition                       greater         altogether               in total             increase by           whole      



	Fluency
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	Reasoning 
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	Problem Solving

	1. Dexter buys a laptop costing £1265 and a TV costing £2497. How much do the laptop and TV cost altogether? 

2. John spends £5672 on car and £2353 on a new kitchen. How much does he spend in total?

3. Rotherham United’s attendance is 4738 one weekend. The weekend after the attendance is 3425. How many people went to watch Rotherham United play over 2 weekends?

4. Shaylan kicked 3738 footballs over the fence. Mr Needham kicked 4453 footballs over the school fence. Altogether, how many footballs did they lose? 

5. Jack scored 6342 points on his computer game on Monday. On Sunday he scored 5263 points. What is his total score? 




	Challenges
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	LO: To subtract more than 4-digit numbers.

	Thursday 7th May 2020

	Star words:   place value                    subtract                    takeaway         difference              minus          decrease by          how many more      



	Fluency

	[image: ]

	[image: ]
















	Reasoning 

	[image: ]
	[image: ]

	[image: ]
	[image: ]






	Problem Solving
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	Challenges
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Friday 8th May 2020
Arithmetic
[bookmark: _GoBack][image: ]
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Work out the missing numbers.
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Rosie adds 2 numbers together that
total 4,444

@ Both numbers have 4
digits.

All the digits in both
numbers are even.

What could the numbers be?
Prove it.
How many ways can you find?
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Two children completed the following
calculation:

1234 +345

My answer is 1589

My answer is 4,684

Both of the children have made a
mistake in their calculations.

Alex

Calculate the actual answer to the
question.
What mistakes did they make?
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Reach 100

Here is a grid of four "boxes":
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You must choose four different digits from
1 — 9 and put one in each box. For example:

This gives four two-digit numbers:

52(reading along the 1st row)
19(reading along the 2nd row)
51(reading down the left hand column)
29(reading down the right hand column)

In this case their sum is 151.
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Rosie uses counters to find the total of 3,356 and 2,435

Use Rosie’s method to calculate:
3356 + 2437

Th H T O
©00 | 000 (00
00 ||000 3,56
©° g“ 000 8 4 35
791
1

3356 + 2473 3356 + 2743
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Complete the bar models.

1185

405

3535

2,634

3264

1655
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Use counters and a place value grid to calculate:

5/9/3|4 3/2|7|5

+/ 22|46 /|+|6|1|5/6  +

Find the total of 4,844 and 2,156
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What s the missing 4-digit number?
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894 9
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Annie,Mo and Alex are working out the
solution to the calculation 6,374 + 2,823

Annie’s Strategy

6,000 + 2,000 = 8000
300 + 800 =110

70 +20 = 90
4+3=7
8000 + 110 + 90 +7 = 8207
Mos Strategy Alexs Strategy
637 4 6374
J2lsl2ls +2/8/2]3
7
8[1]9|7
9|0
10/0
Whois correct? ojojo
1197
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Complete:

Th H T o

Mo says that there is more than one
possible answer for the missing numbers
in the hundreds column.

Is he correct?

Explain your answer.
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Amir is discovering numbers on a
Gattegno chart.

He makes this number.

Amir moves one counter three spaces
on a horizontal line to create a new
number.

When he adds this to his original
number he gets 131130

Which counter did he move?
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Eva uses place value counters to calculate 3,454 — 1224

Th H T O
3 4|5 4
©og 00 (000 BESP|
-|112 2|4
22|30
Use Eva's method to calculate:
2348 —235=___ __=4572-2341

6,582 — 58:

— ___=7262-7151
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Calculate:
4648 — 2347 45536 — 8426
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Eva is performing a column subtraction

with two four digit numbers.

The larger number has a digit total of 35

The smaller number has a digit total of 2
Use cards to help you find the numbers.
What could Eva's subtraction be?

How many different options can you
find?
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There are counters to the value of 3470
on the table but some have been
covered by the splat.

P
o/h\a

What is the total of the counters covered?

How many different ways can you make
the missing total?
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Rosie completes this subtraction
incorrectly.

28701
-_7621
21180

Explain the mistake to Rosie and correct
it for her.
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Eva makes a 5-digit number.
Mo makes a 4-digit number.

The difference between their numbers is
3465

What could their numbers be?
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A Represent each problem as a bar model, and solve them.

Aplane is flying at 20456 feet.
During the flight the plane descends 8896 feet.

What heightis the plane now flyingat?

Tommy earns £37506 pounds ayear.
Dora earns £22,819 ayear.
How much more money does Tommy earn than Dora?

There are 83,065 fans at a football match.
45,927 fans are male. How many fans are female?
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I Use a bar model to represent each problem.

There are 3597 boys and girls in a school.
2,182 are boys. How many are girls?

Car A travels 7653 miles per year.
Car B travels 5612 miles per year.
How much further does Car A travel than Car B per year?
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Complete the pyramid using addition
and subtraction.
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Answer Mark Answer Mark
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Use counters and a place value grid to calculate 3242 + 2,213

1000s

100s

10s

1s

0

0000

1)

o

Now calculate 3242 + 213 in the same way.
What is the same and what is different?





